YEAR 12 PRACTICAL 2

DETERMING THE RELATIVE MOLECULAR MASS OF AN ACID

Typical readings:
	Mass of Bottle
	13.89

	Mass of bottle and acid
	16.44

	Mass of bottle after removal of acid.
	13.89*

	Mass of acid transferred.
	2.55


*This is done because sometimes acid is left in the measuring bottle.

	
	Rough
	1
	2

	Initial reading (cm3)
	0.35
	0.35
	1.25

	Final reading (cm3)
	16.65
	15.10
	16.05

	Titre (cm3)
	16.30
	14.75
	14.80

	Concordant
	
	X
	X


Determining the RMM

1)
Average titre value = (14.75 + 14.80)/2 = 14.775 cm3
Overall reaction

H2A  +
  2NaOH

Na2A  +  H2O

Information

· Concentration of NaOH = 0.1 mol dm-3 

· Volume of NaOH = 25 cm3
· Volume of acid used = 14.775 cm3
· Mass of acid in 250 cm3 = 2.25 g

2)
Moles of NaOH = 0.1 x 25/1000 = 2.5 x 10-3

So moles of acid in titration = (2.5 x 10)/2 = 1.25 x 10-3
3)
1.25 x 10-3 moles of acid in 14.775 cm3
so 250/14.775 = 0.0212 moles of acid in 250 cm3 (in volumetric flask)
4)
mass of acid = 2.55 g
Mr of acid
=
mass/ moles




=
2.55 / 0.0212 




=
121
Evaluating the Accuracy of the Answer
1)
Theoretical  mass 

=
126
difference


=
(126 – 121) = 5
2)
percentage difference

=
3.97 %

3)
if formula is H2C2O4.xH2O and rmm = 126

90 + 18x = 126

so x = (126 – 90)/18 = 2

4)
To make sure all of the dissolved acid ends up in the volumetric flask
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